
An instruction manual 

- 1 - 
 

Commodity instructions 

 

Article number：YX8099 

Name of commodity：15 Honda XRV pedal 

Fit modelst：15 Honda HR-V 

 

 

 

 

 

 

Matters needing attention: 

≒ The specification of all the pictures are for reference only, 

   Pictures and objects may be different, But the installation 

   Method is the same. 

≒ In order to facilitate the, Please read the instructions before 

   Installing the goods, The installing should pay attention to the 

   Surface protection of your car, Avoid scratching. 

≒ All accessories please regularly to check with the car connection 

   Is loose, To ensure safety, Regular cleaning pedap make it last. 

   



An instruction manual 

- 2 - 
 

 

一．Function and characteristics 

≒  Convenient installation, Need not bottom punch, Only need to use The 

original hole bottom can be installed.  

≒  The design is exquisite, Perfect fit with the body, Superior Quality. 

二．The basic accessories products 

Serial 
number 

   Parts name quantity Specifications Icons 

(1) The pedal body 2 Symmetrical 

each one 
 

(2) Front and middle 

support 

4  

 

(3) Rear bracket 2  

 

(4) Hexagon flange bolts 20 M8*20  

(5) 
Six angle flange nut 4 M8 

 

(6) Flat washer 20 M8  

(7) Spring washer 20 M8 
 

 

(7) 
Cross recessed pan 

head tapping screws 
4 M5*15 

 

(8) White clip 26  

 



An instruction manual 

- 3 - 
 

三：Installation steps 

Left pedal installation procedure 

○1  Step 1: refer to the spare parts list and accessories drawing to 

see if the spare parts are complete and clear. 

○2  The Second step: the original car side skirt with special tools to 

take off, as shown in Figure 1. 

 

 

 

 

  

Figure 1 

○3  The Third step: remove the white clips in the accessory bag and 

place it in the clamping slot corresponding to the pedal 

○4 The Fourth step: the placement of the clip of the pedal, the original 

car card slot position, buckle in the body. 

○5 The Fifth step: after the installation of the first bracket, the original 

car hole position, the pedal and the bracket for the connection 

M8*20 bolt from the top through the support hole, with M8 nut fixed 

As shown in the following figure 2. 

 

 



An instruction manual 

- 4 - 
 

 

 

 

 

 

 

Figure2                      

○6  The Sixth step: before the installation, support, support: for the 

general case, the middle bracket borrow the original car hole as shown 

in the figure 3 (pictured on the right side of the pedal), borrow the 

original car front bracket holes as shown (pictured on the right side of 

the pedal) 

 

 

 

 

 

Middle bracket                Front bracket      

 

Figure3 

 

 



An instruction manual 

- 5 - 
 

○7  The Seventh step: adjust the position of the pedal before and after, 

with the self tapping screw to the front and rear fender and the original 

car skirt fixed position of the body fixed connection, the pedal bracket 

bolt all tight. 

○8 Eighth step: use the same method to install the other side of the 

pedal. 

 

Pedal installation effect diagram 

                         

 

 

 

 

 

 

 

 

 

  

 


